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Q.1 Select the most appropriate option to substitute the underlined segment in the given sentence. If
there is no need to substitute it, select No improvement.

As much as a hundred children gathered to celebrate Independence Day.
Ans x 1. No improvement

2. As long as

X
J 3. As many as
X 4. As high as

Question ID : 4244291631
Status : Answered
Chosen Option : 3

Q.2 Select the most appropriate word to fill in the blank.

For thousands of years, humans have been the earth, making scars upon the land.

Ans x 1. redecorating
X 2. distracting
J 3. damaging

x 4. remaking

Question ID : 4244291642
Status : Answered
Chosen Option : 3

Q.3  Select the most appropriate meaning of the given idiom.

A dime a dozen
Ans x 1. Expensive
2. Uncommon

3. Phenomenal

L XX

4. Very common

Question ID : 4244291635
Status : Answered
Chosen Option : 4




Q.4

Ans

Select the most appropriate meaning of the given idiom.

Couch Potato

, 1. Skinny
, 2. Lazy person

« 3. Hyperactive

« 4. Overweight

Question ID : 4244291634
Status : Answered
Chosen Option : 2

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the alternatives given.
Select the most appropriate option for each blank.

We do not want to condemn the ‘word’. It is, after all, a mighty instrument; it is the means by

(1) we tell each other of our emotions, the way in which we influence others. Words can do

(2) good but also cause terrible injuries. It is true that at first there was the deed; the word
came later. It was in some respects a cultural progress (3) the deed became word. But the word
was (4) a spell, a magical act, and it (5) much of its power.

SubQuestion No : 5

Q.5 Select the most appropriate option for blank No. 1.
Ans J 1. which
X 2.that
x 3. what
x 4. whose
Question ID : 4244291623
Status : Answered
Chosen Option : 1
Comprehension:
In the following passage some words have been deleted. Fill in the blanks with the help of the alternatives given.
Select the most appropriate option for each blank.
We do not want to condemn the ‘word". It is, after all, a mighty instrument; it is the means by
(1) we tell each other of our emotions, the way in which we influence others. Words can do
(2) good but also cause terrible injuries. It is true that at first there was the deed; the word
came later. It was in some respects a cultural progress (3) the deed became word. But the word
was (4) a spell, a magical act, and it (5) much of its power.
SubQuestion No : 6
Q.6 Select the most appropriate option for blank no. 2
Ans ’

o 1. immeasurable

x 2. miserable
x 3. numerable
« 4. countable

Question ID : 4244291624
Status : Answered
Chosen Option : 2




Comprehension:
In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

We do not want to condemn the ‘word’. It is, after all, a mighty instrument; it is the means by
(1) we tell each other of our emotions, the way in which we influence others. Words can
do (2) good but also cause terrible injuries. It is true that at first there was the deed; the
word came later. It was in some respects a cultural progress (3) the deed became word.
But the word was (4) a spell, a magical act, and it (5) much of its power.

SubQuestion No : 7
Q.7 Select the most appropriate option for blank no. 3

Ans J 1. which

( 2. when
! 3. such
J 4. however

Question ID : 4244291625
Status : Answered
Chosen Option : 4

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

We do not want to condemn the ‘word’. It is, after all, a mighty instrument; it is the means by

(1) we tell each other of our emotions, the way in which we influence others. Words can
do (2) good but also cause terrible injuries. It is true that at first there was the deed; the
word came later. It was in some respects a cultural progress (3) the deed became word.

But the word was (4) a spell, a magical act, and it (5) much of its power.

SubQuestion No : 8
Q.8 Select the most appropriate option for blank no. 4

Ans x 1. lastly
x 2. quickly
l 3. originally
x 4. firstly

Question ID : 4244291626
Status : Answered
Chosen Option : 4

Comprehension:
In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

We do not want to condemn the ‘word’. It is, after all, a mighty instrument; it is the means by
(1) we tell each other of our emotions, the way in which we influence others. Words can
do (2) good but also cause terrible injuries. It is true that at first there was the deed; the
word came later. It was in some respects a cultural progress (3) the deed became word.
But the word was (4) a spell, a magical act, and it (5) much of its power.

SubQuestion No : 9
Q.9 Select the most appropriate option for blank no. 5

Ans J 1. has retained
x 2. have retained

x 3. will retained

J 4. retained

Question ID : 4244291627
Status : Answered
Chosen Option : 1




Q.10 Select the most appropriate synonym of the given word.

Diligent
Ans ’ 1. Weary
2. Untiring

3. Lethargic

X Q<

4. Inattentive
Question ID : 4244291640

Status : Answered
Chosen Option : 4

Q.11 Select the most appropriate option to substitute the underlined segment in the given sentence. If
there is no need to substitute it, select No improvement.

So much as you behave like this, the decision of the management against you cannot be revoked.

Ans x 1. No improvement

x 2. As long to

J 3. As long as

x 4. As much to

Question ID : 4244291630
Status : Answered
Chosen Option : 3

Ans

Q.13 Given below are four sentences in jumbled order. Out of the given options pick the one that gives their
correct order.

A. At the metro station he noticed a homeless man.
B. He decided to travel to office by the metro train.

C. He sent his damaged car to the garage for repairs.
D. Johnny had a car accident.

Ans J 1. DACB
2. DBCA

3. DCBA

X QS

4. DBAC

Question ID : 4244291629
Status : Answered
Chosen Option : 3




Q.14 Select the most appropriate antonym of the given word.
Timid

Ans , 1. Bold

2. Sincere

3. Punctual

X X X

4. Dubious

Question ID : 4244291633
Status : Answered
Chosen Option : 1

correct order.
A. A boy tended his master’s dogs near a pond.
B. However, he realized that the way he talked to them never made them happy.

C. Soon he found the tending and his life there very boring.
D. All he could do to kill the boredom was by talking to the dogs.

Ans x 1. ADBC

2. ABCD

v
J?:. ACDB
v

4. DCAB

Q.15 Given below are four sentences in jumbled order. Out of the given options pick the one that gives their

Question ID : 4244291628
Status : Answered
Chosen Option : 3

Q.16 In the sentence identify the segment which contains a grammatical error.

, 1. Our twenty-first century society
J 2. to simply be
J 3. handing to us.

x 4. expects all relevant information

Our twenty-first century society expects all relevant information to simply be handing to us.

Question ID : 4244291620
Status : Marked For Review
Chosen Option : 2

Ans

Q.17 Select the most appropriate word to fill in the blank.

There should be punishment for rule breakers.

Ans x 1. too

2. much

x
x 3. many
v

4. severe

Question ID : 4244291643
Status : Answered
Chosen Option : 4




Q.18 In the sentence identify the segment which contains the grammatical error.

Behavior modification techniques are often used to the training of police dogs.
Ans J 1. are often used
J 2. of police dogs
J 3. Behavior modification techniques
v

4. to the training

Question ID : 4244291621
Status : Answered
Chosen Option : 4

Q.19 Select the most appropriate antonym of the given word.

Disillusioned
Ans J 1. Embittered
2. Disappointed

3. Soured

L XX

4. Enthusiastic

Question ID : 4244291632
Status : Answered
Chosen Option : 4

Q.20 Select the correct passive form of the given sentence.

The mechanic repaired my bike.

x 1. My bike has been repaired by the mechanic
J 2. My bike was repaired by the mechanic.
x 3. The bike was being repaired by my mechanic.

x 4. The bike is repaired by my mechanic.

Question ID : 4244291618
Status : Answered
Chosen Option : 2

Ans

Q.21 Select the correct indirect form of the given sentence.

Vishnu said, "I am going to the theater this evening."
Ans J 1. Vishnu said that he was going to the theater that evening.
J 2. Vishnu said that he was going to the theater this evening.
J 3. Vishnu said that he would go to the theater that evening.
v

4. Vishnu said that | am going to the theater this evening.

Question ID : 4244291619
Status : Answered
Chosen Option : 1




Q.22 Select the word which means the same as the group of words given.

Steal or misappropriate money
Ans 1. Overcharge
2. Raid

3. Embezzle

X € X X

4. Manipulate

Question ID : 4244291639
Status : Answered
Chosen Option : 4

Q.23 Select the wrongly spelt word.

X

Ans 1. Fixation
2. Providance

3. Musician

L X

4. Consequence

Question ID : 4244291637
Status : Answered
Chosen Option : 2

Q.24 Select the wrongly spelt word.

J 3. Esteem

l 4. Respectfull

Ans

Question ID : 4244291636
Status : Answered
Chosen Option : 4

Q.25 Select the most appropriate synonym of the given word.

Insidious
Ans x 1. Sincere

2. Crafty

v
x 3. Benevolent
X

4. Callous

Section : General Intelligence

Question ID : 4244291641
Status : Answered
Chosen Option : 4




Q.1 el TR e omr &, BLINK @ 2226 3R ALL #7 1312 g <rer &1 38 &1or & EYES & &
forar seem?

Ans o 1. 6513
X 2 5448
v 31044
X 4 3219

Question ID : 4244291653
Status : Answered
Chosen Option : 2

Y Tt ot # arfdw ik it wa & sty #
|. Teass

=

ll. 3rsesq=T

2

. T
%)

V. wesge
Ans XL L L IV
X2, 1, 1V, |
N \VAR N (A 1

X4V, L 1,1

Question ID : 4244291651
Status : Answered
Chosen Option : 3

Q3 Rfafda Ao & wea-fea (?) F 0T W 31 S GEAT F AT FY
1, 8, 9, 64, 25, 216, ?
Ans X 1128
v 2 49
V'3 343
v 4 256

Question ID : 4244291647
Status : Answered
Chosen Option : 2




Q4 3fde, 3o AAF A0 F1 3T REA HUA Tl W T F v & ¥ 9% w9 wfFana @
9 32,500 T FIAT &1 TE 3T AR IaT F 3/7 FFT H I AE 999 T ¢ 3R FoIT 7A@
Iaa FT g2

Ans o 1. 735,000
v 2. 330,000
v 3. 325,000
v 4 328,000

Question ID :

Status :

Chosen Option :

4244291660

Not Attempted and
Marked For Review

Q5 @ R aw Fust HR et 1 caaTEE 9 IE AGT gC F FuA F & 0 A T g, oo &
Ig FART T § A aud ¥ B wda g @, 3w F B Re v et § ¥ #F @,
FUeAT F Al T § IHTEOT AT ¢ / FS 2

FYT:
1. $T 55 R Yo §

2. 35 wEh dsfie gt T ¥

3. Sel% cafed a1 @ g Worr § ar e Ao B
sy

I. o5 deffea & woa F

Il. Fo wsfRat g Ao §

. g ofr d@r 7 § S g 3R dsfied Qat Qo 7

v 1 Fae Ty Il HFaToT S g
X 2 aer Ty || e HIT E
v > Faa s 1l A N srEor #a g
X o Faer sy | HFEIOT FAT E

Ans

Question ID : 4244291661
Status : Answered
Chosen Option : 3

Q6 SfaflT v & wa-REd (?) & TUF W A I GE&AT F 9aT
2. 7. 5 2.3 g
Ans X' 1. 4
X220
v 2
X4 1

Question ID : 4244291649
Status : Answered
Chosen Option : 3




TH W A FA TAT TF coiad ST e # fFe 0 sprae & 10 T § 360 3 T T ¢

3 AN T BT TS For AR 3t R & B spren frw e Ry #13 I §1 a9 R sEe
Q7 T RS T g e freer oy @ A

ae ¥ 60,
v 3390,
X 330,
X 3570,

Question ID : 4244291644

Status : Marked For Review
Chosen Option : 2

frrafof@a # & demmt & slawr w7, @79 v v gd@fewo & @gfaa Fem?
36x5-18+6+2=78

ae ¥ 18 x5-36+2+6,

X 5x2-18+6 + 36,

X 36x2-18+6+5,

X 5x6-36+18+2,

Question ID : 4244291645

Status : Answered
Chosen Option : 1

QI =7 fares & TUT Y, T wedl F1 W F @ TAw § N R A0 weq-g7A F oeat F A
TERT : 3HTRT

Ane X 1. frems - g
V2 oT : sTEefoET
v FEr - aAREr
v 4 T ;- ofdrar

Question ID : 4244291658
Status : Answered
Chosen Option : 4

IR HER-TAE BT 1w §, A § I e 7 Bl e @ T § R U e €1 3R 3RR-aag
Q.10 F TTT B

ae ¥ FHN,
v MQSs,
v DLP,
v JPZ,

Question ID : 4244291659
Status : Answered
Chosen Option : 2




58 fawed & 90 Y, OwH Tt & avw # af geu § S R v aEeaw & gEmeit & A
2l
Qi1 G 6 30

v (4, 12, 132)
v (2, 4, 22)

V'3 (-4, 24, 342)
v 2 (5, 20, 420)

Ans

Question ID : 4244291648

Not Attempted and

Status : Marked For Review

Chosen Option : --

QlZB,Aa:r%m\‘HTg’:T%I C,DRE AL A CHA g 5a¢ F B & D ¥ &1 Towr 72

Ans J m 1.
X Rar,
X =T,

X o sm$

Question ID : 4244291657
Status : Answered
Chosen Option : 1




Q13 frm ampfoa # v Fors # FsA 7 FA AR B g FOS A e H (Y 2 78§ Fow A
T Wrew W 7g T s &eme

7 4 |12l |l
|
Ane I

vi[] @ [
mi!
| L]

v:| @[]@®
1 N
-

v [Je[le[
1 [
HE .

vl ®® [
nilies Bl s

Question ID : 4244291666
Status : Answered
Chosen Option : 3

38 foped &1 99 Y, Swe S NT-AAE ¥ 6 EY ¢, S gEY R-UAE F g WER-THE o
gl
Q.14 CLOCK : CNSIS : : WATCH : ?

as ¥ WBVFL

v WCVEJ,
v  WCXIP,
X  WBWHO,

Question ID : 4244291654
Status : Answered
Chosen Option : 3




3 3T NG & TTT FY, 7 FAfeiQd F 9" GO FF Facdd &7 ¥ g &ar &
Q.15 JTeeforaT, s, wrresA

O
©
" OOO

< (©©)

v

Ans

Question ID : 4244291668
Status : Answered
Chosen Option : 1

Q.16 3Rt & 3@ FAS w1 T B, O 3R Ter F NFd T W FEE T F R AR R S@er @
& e

ab bca acb _ _ _aac

Ans - X 1 aabcabccab
v 2 aacbacabbc
v 3 cbaabcabca
v 4 cabaabcabc

Question ID : 4244291656
Status : Answered
Chosen Option : 4

37 faweT & Taw wY Swed sEadt & 9= o gav § S R v dew-gea & et F a9 g
Q.17 42 : 18

ae ¥ 71:45,

v 31:29,
v 10:9.
v 19:5,

Question ID : 4244291646
Status : Answered
Chosen Option : 3




Qg ' TEY TRURIRE F AR W E, Y TEG FR HF L HE
v st

v 2 gaererE

v R

X o golFeIiaehr

Ans

Question ID : 4244291655
Status : Answered
Chosen Option : 2

O et A & B =

Ans € 147
X216
v 18
X415

Question ID : 4244291664
Status : Answered
Chosen Option : 4

IR FE-GIH e av §, e @ S B 7 S e @ v € R v e #1358 aRi

Q.zom-gma:rmﬁl

ae ¥ 16140,
v 120 : 300,
v 320 : 480,

v 28:70,

Question ID : 4244291650
Status : Answered
Chosen Option : 3




Q2 37 sy & TO Y, o PEafafla ampy Ao F s Tae 9w ameh

/1

Ans

Question ID : 4244291663

Status : Answered

Chosen Option : 1

T & 9 B 3 BeA-Bew Tufdat #r et mr ¥ IR v 3 F Rl 9 wee 9w R
&I &, A 3T GEAT T AIS FY, S GEAT 2’ el el & SO Bee 9T gl

5 4
6 |1 16
Q.22
Ans « 11.
v 3,
v 5.
v 6,

Question ID : 4244291662

Status : Answered

Chosen Option : 4




Q

as < XSVJFV,

X VQTHDT,
v WRUIEU,
v 0TQCGQ,

53 Tohel TAReE g s #, TRAIN T FHYQL foram Siem &1 39 o1 3 CHEQUE & & foram seam?

Question ID : 4244291652

Not Attempted and

Status : Marked For Review

Chosen Option : --

FFR & € 3N N W TN W & T WY T FE 9T WAy P @ g

Ans

Question ID : 4244291667
Status : Answered
Chosen Option : 2




Q25 37 fameT # 7U= FY, orwd & 7 Y HARA (embedded) ¥ (T IgAl T B)

Ans hﬁ

‘,1.

Question ID : 4244291665

Status : Answered

Chosen Option : 4




Q1 3 a9 gz oft, 9w 3R 3% a=3 & sitwa 317 26 9 off 3t 5 T TEA TEh AR w= F siww
g 20 7 o ofy & T 3G §

e o137 €
X2 42 a§
X3 39 I¥
X4 45 a%
Question ID : 4244291672
Status  p e or Review

Chosen Option : -

Q2
T2 +y=63Rxy =4 A8+ F AT E:

Ans X 1. 84
X216
Vs 72 'S N

X 4 48 \ |
Question ID : 4244291682

atus : Answered
Chosen Option : 3

Q3 3% e &1 firoan 7o ¥, ForeeT 8w, 15 om 3 8 om Frear = 2 3 5 T w
=R E
Ans - X' 1.15 em
X213 cm
v 317 cm @
X 414 cm O
Question ID : 4244291671

Status : Answered
Chosen Option: 3

Q4 ofr 2wt 57 GemEs 11 % S s A & s 65 ¥, @ 3 et a7 G
Ans o 1. 407

X 2 576

< 3 355

< 4 615

Question ID : 4244291684
Status : Answered
Chosen Option : 1




SWRIFd T, AFTET A, B, C 3R D & 9T A 307, =99, & 3R g99 (300 &) F F=wor =+
ol Fxar 2

TF FT FETTT FL AN T & 3] 3
T & SR & & F g 30F g=g oeT 7 ¥ FEdr 2

Ans l 1.6
v2B
V3D
XA
Question ID : 4244291690
Status : Answered
Chosen Option : 4
O o x I 22% =y FT30% E, ATy x TR &
Ans o111 : 15
v 215 : 11
V315 : 14
V17 : 16
Question ID : 4244291674
Status : Answered
Chosen Option : 1
7 sin245° + cos245° FH AT g
Ans

v

V2
V30
Va2

Question ID : 4244291689
Status : Answered
Chosen Option : 1




Q.8

afy frelr feer & = s1=T 11 cm, 12 cm 3K 13 cm &, & Rw 71w M & awa (cm? &) @
&2

Ans
X 113426
v > 6105
X 31513
X+ 1742
Question ID : 4244291680
SUAUS et For Review
Chosen Option : --
Q.9

Tmm;:%iﬂmmma@zs,zso%wmwws%#wm%lmﬁwh mﬁmAns
X 1 33,270
X 233,070
v 3 32,990

X 4 32590

Question ID : 4244291673
Status : Answered
Chosen Option : 3

SRIFT I, FiFaAr A, B, C 3R D & 3fF A7 309, =¥, X IR 599 (T H) & JRor #r
T X &1 AF F 3eTTA HioT AT 937 &1 3caw e

AT F vavd & T H FOE A FC AT A ¥ e 2
Ans xl' A

va2C

X 3B

XD

Question ID : 4244291693
Status : Answered
Chosen Option : 4




FRAFIORFA I, IR A s A 2Ra A @R w1 s @ A s a1 @
Q.11 T & v 30 oF fa # fraw ¢ 14 Far afee?

X 12,
X 14,
X 16,
v 15,

Ans

Question ID : 4244291669
Status : Answered
Chosen Option : 4

FAFIOT By F FABIOT A AT & ST H TS 21 cm AR 20 em B1 59 B & Rgea H
Q.12 = T @2

e < 12 cm,
X 14 cm,
v 145cm.
X 155 cm,

Question ID : 4244291681
Status : Answered
Chosen Option : 3

Q13 350 m o YEEME, 250 m T Ger FF 20 Fehs F IR A §1 Y@ H A (kmvh FH) FT E2

Ans of 1108
X2 88
X3 95
X472

Question ID : 4244291670
Status : Answered
Chosen Option : 1

Qg 8 cm BT I TF ged F @ FAR FIR@HA F I Fr g¥ AT+
Ans x 8crnl.

X 4cm,
v 16 cm.
X 145¢cm,

Question ID : 4244291679
Status : Answered
Chosen Option : 3




13 cm 3R 5 cm = & &Y THRT goa &1 2 goa F ST H FEE AT R, A OR Jed H T
Q.15 < 8l

ae ¥ 24 cm,

X 15 cm,
X 10 cm,
X 13 cm,

Question ID : 4244291678
Status : Answered
Chosen Option : 1

IfE sinx = 2 §, @ tanx T AF &
Q.16 37

35

Ans 12

12
JZ. ‘3_5'
35
37
37

K a4, ==
12

X 3

Question ID : 4244291687
Status : Answered
Chosen Option : 2

Y [09-{23-32-(7.1-5.4-35))] FHEET AT HYI
Ans X126

X218

X 3018

v ot

Question ID : 4244291686
Status : Answered
Chosen Option : 4

F$ cafFa 5 d5 F 28,000 FAT FIAT §, S AVF 8% HIRUT U FT SFTIA FIAT ¢l 8 I AT
Q.lsﬁmml

< 1 210,784
X 2.312,545

X 3212,600
v 4 213,120

Ans

Question ID : 4244291677
Status : Answered
Chosen Option : 4




S QUi n & 5 & s forar e €, & duse 3 g g@ar €1 IfE 8n w5 F Renfea R

Q.19 I &, & quET FAT gM?

Ans x 2 1.

~

X X <
_su?)_h

Question ID : 4244291685
Status : Answered
Chosen Option : 2

Q.20

Ans

20,000
18,000
16,000
14,000
12,000
10,000
8,000
6,000
4,000
2,000

I F

HAGT WET EF O q9d

IRIFT I, AFaar A, B, C 3R D & 9fa #g 30+, =59, &Y 3R s99 (T &) & F=gor &

i wa F

TAF F FHeTTF F AR T FT 3ck 2

Ia F v & & F FEd 30F F FET 7 § e 22

A,

2.

w

X X € X

B
C
D

&

Question ID : 4244291692
Status : Answered
Chosen Option : 2




" daT

NET e o 99d

IRIeFT TF, FFaET A, B, C 3R D & 9fy 77 30, =09, & 3R s9d (I &) F Fwor
fT w@ B

TF FT FHeTTF F¢ AT Fo 1 3ec) S

a9 F S F & F §Q FH 97 FET F @ e 2

Q.21
Ans x B 1.
v C,
X D,
X A,
Question ID : 4244291691
Status : Answered
Chosen Option : 3
Q.22 sin 8—cos 8
IfE tanf == & A T F A &
sin 8+cos 8
Ans
—1
vi_—
41
x> —29
31
X3 2
21
X 4 g
35
Question ID : 4244291688
Status : Answered
Chosen Option : 1
M +L=38 & A ¢ FaATE
Q.23
Ans J 6 1.
X 9,
X 5,
X 4,

Question ID : 4244291683
Status : Answered
Chosen Option : 1




&= et F AeTee 79 B afy wgen wwn i gud wew # g 4 0 7 € 3k gud wew sk
Q_24mma:r34§qﬁr4:5%,zﬂa@ﬁm2~.

we ¥ 28,
X 15,
X 35,
X 12,

Question ID : 4244291676
Status : Answered
Chosen Option : 1

iR @ #1¥ 757 27,160 & a9 T 20% A FAfA g1 30% w7 9 FA F A 30 3@ Iw TN
Q.zsﬁmaﬂwmmm

X 1 210,678
v 2 211,635

X 3. 38,988
X 4 212,007

Ans

Question ID : 4244291675
Status : Answered
Chosen Option : 1




Q.3 ‘gfRyad= T (transformation curve)' &Y _____ & &a & ft wr=m mar 21
Ans « 1. Icqre- §49re-T gsh (production possibility curve)

X 2. Fewa am (indifference curve)

< 3. amufd @@ (supply curve)

x 4. 7 g (demand curve)

Question ID : 4244291702

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.4 woft ftal & dwor Y afdrar & uget wRo1 & IR gt & Bg-aTEa Srvpait A @ frdifza g A
Tl TUTSHT TRt AT hgl It 87

Ans  of | o
X 2.4
75 3.9

X 4.7

‘uesfogl‘ ID : 4244291704
Status : Answered

Q.5 Frer orAReE wrafd o Aider orif Qe seE Rvar ma
Ans 1 i arfdimes

/X 2. fm fRiea

o 3. 5 sitam

72X 4. smren for

Question ID : 4244291713
Status : Answered
Chosen Option : 3

Q.6 TS A5G ATl A Aot aeit iy a=aTar 9Tl

Ans B 1 glam
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